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      General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time

of 2 hrs.

l You are neither allowed to write your answers nor to discuss anything

with others during the 'cool off time'.

l Use the 'cool off time' to get familiar with questions and to plan your

answers.

l Read the questions carefully before answering.

l All questions are compulsory and only internal choice is allowed.

l When you select a question, all the sub-questions must be answered from

the same question itself.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed

in the Examination Hall.

     j]¡SÇw°¥:j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.
CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

l IŠL S\Lh|°¥¨OU D¾qU IuOfeU.
l KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk

S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.
l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q

SkÕr]¤¾RÐ DºLp]q]¨eU.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.
l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. CPU has three components.

Which one of the following is the

CORRECT option?

a) ALU, CU and ROM

b) ALU, CU and RAM

c) ALU, CU and Registers

d) ALU, RAM and ROM

2. Which one of the following is

used to connect a projector to a

computer?

a) USB port

b) PS/2 port

c) Parallel port

d) VGA port

3. Choose a data terminal

equipment (DTE) from the

following options.

a) Bridge

b) Modem

c) Router

d) Gateway

4. The small text files used by

browsers to remember e-mail id,

user name, etc. are known

as ..........

1. CPU v]jV oPÐV nLY°tOºV. \OvRa

RWLaO¾]q]¨OÐvp]¤ wq]pLp

KLkVx¢ JfV?

a) ALU, CU and ROM

b) ALU, CU and RAM

c) ALU, CU and Registers

d) ALU, RAM and ROM

2. \OvRa WLeOÐvp]¤ JfV

DkSpLY]\ÿLeV KqO SNkL^WVar]Rj

WÒ|PŸrOoLp] mjVi]Õ]¨OÐfV?

a) USB port

b) PS/2 port

c) Parallel port

d) VGA port

3. \OvRa RWLaO¾]q]¨OÐvp]¤

j]ÐOU KqO ScãL Ra¡o]j¤ IW|OÕV

Ro£V RfqR´aO¨OW.

a) Nm]cV^V

b) SoLRcU

c) rTŸ¡

d) SYãVSv

4. C&Rop]¤ RIc], pPy¡ Rjp]U

oOfsLpv KL¡Ú]¨L¢ NmTy¡

DkSpLY]¨OÐ R\r]p RaWVðV

lpsOW¥ ............. IÐr]pRÕaOÐO.

(1)

(1)

(1)

(1)

(1)

(1)

(1) (1)
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5. If the binary equivalent of 56 is

(111000)
2
 find the 1's compliment

form, and Sign & Magnitude

form of –56 (negative 56) in

8 bits.

6. In an office, various kinds of

reports and account statements

are to be prepared. Name the

two types of software needed

and explain how they satisfy the

requirement.

7. The following are invalid

identifiers in C++. Write a

reason for each.

a) Id#

b) void

c) 2ab

d) avg hgt

8. Explain the operations involved

in the following C++ expressions

and write the output.

a) 5/2+3

b) (10%3)/2.0

OR

Write sample statements in C++

for the cascading of input and

output operators.

5. 56jV fOs|oLp RRmjr] yUX|

(111000)
2
 BReË]¤ –56Rj 1's

SWLUkæ]Ro£V qPk¾]sOU RRy¢

B¢cV oL®]ã|PcV qPk¾]sOU 8 m]ãV

DkSpLY]\ÿV IuOfOW.

6. KqO KLl}y]¤ ksfqU r]SÕL¡ŸOWtOU

A¨TºV SðãVRo£OWtOU fáLrLS¨

ºfOºV. Cf]jLvw|oLp qºV fqU

SyLlVãVRvprOWtORa SkRquOf]

Av I°Rj yzLpWqoLWOÐO

IÐV v]whoL¨OW.

7. \OvRa RWLaO¾]q]¨OÐv C++ Rs

RfãLp RIc£]lprOWtLeV.

KLSqLÐ]jOU WLqeRouOfOW.

a) Id#

b) void

c) 2ab

d) avg hgt

8. \OvRa WLeOÐ C++ IWVyVNkxjO

Wt]Rs KLÕSrxjOW¥ v]wh}Wq]\ÿV

KTŸVkOŸV IuOfOW.

a) 5/2+3

b) (10%3)/2.0

ARsæË]¤

C¢kOŸV&KTŸVkOŸV KLÕSrãrOWtORa

WLyVSWc]UY]jV C++Rs qºV

yLÒ]¥ SðãVRo£OWRtuOfOW.

(2) (2)

(2)(2)

(2) (2)

(2)(2)

(2) (2)
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9. Num IÐ Svq]pm]t]Rs v]s 1

WPŸOÐf]jLvw|oLp jLsV

v|f|yVf°tLp C++ SðVãVRo£O

WRtuOfOW.

10. URL yVNa]UY]¤ SNkLSŸLSWL¥,

RcLRop]¢ Rjp]U, lp¤ Rjp]U

IÐ]v WLeOU. KqO URL&R£

SkRquOf] Af]¤ Cv

AapLtRÕaO¾OW.

11. C++ ¤ oPÐV sPÕ]UYV SðãVRo£O

WtOºV.

a) IWVy]ãV&W¦SNaL¥cV sPÕV

JfV?

b) KqO I¢Na]&W¦SNaL¥cV sPÕ]¤

j]ÐOU AfV I°Rj

v|f|yVfoLWOÐO?

12. (198)
10

 IÐ yUX|Rp oãV oPÐV

yUX|L yNÒhLp°t]Ss V̈ oLãOW.

13. 100 jOU 200 jOU CapV¨Ott 5R£

YOe]f°Rt AvSqLze NWo¾]¤

WLeOÐf]jOtt A¤SYLq]f

RouOfOW.

ARsæË]¤

oPÐV yUX|W¥ C¢kOŸV R\pVfV

Avp]¤ R\rOf]Rj

WºOk]a]¨LjOtt lVStL\L¡ŸV

vqpV¨OW.

9. Write four different C++

statements to add 1 to the value

stored in the variable Num.

10. URL string consists of protocol,

domain name and file name.

Write the name of a URL and

mark these three parts in it.

11. There are three looping

statements in C++.

a) Which is the exit-controlled

loop?

b) How does it differ from an

entry controlled loop?

12. Convert the number (198)
10

 into

the other three number systems.

13. Write an algorithm to print the

multiples of 5 between 100 and

200 in descending order.

OR

Draw a flowchart to input three

numbers and display the

smallest.

(1)

(2)

(2)

(2)

(2)

(2)

(3)

(2)

(3)

(3)

(3)

(3)

(3)

(1)
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14. Find the best match from

columns B and C for each item

in column A.

14. SWLtU A p]Rs KLSqLÐ]jOU

AjOSpL^|oLpvRp B, C IÐ}

SWLt°t]¤ j]ÐOU WRº¾OW.

15. \OvRa RWLaO¾]q]¨OÐ C++

SNkLNYLo]Rs BrV RfãOW¥

WRº¾] KLSqLÐ]jOU

WLqeRouOfOW.

#include<iostream>

namespace using std;

int main()

{

int a; b;

cin<<a<<b;

a+b=s;

cout>>s;

}

16. C++Rs oPÐV j|PRor]WV ScãL

RRaÕOWRtuOf] KLSqLÐ]jOU

DhLzqeU j¤WOW.

     A                  B                    C

a) "9" i) Assignment operator 1) Modifier

b) = = ii) int 2) Same as 9

c) short iii) Relational operator 3) Constant

iv) String 4) Two operands are needed

15. Identify six errors in the

following C++ program and give

a reason for each.

#include<iostream>

namespace using std;

int main()

{

int a; b;

cin<<a<<b;

a+b=s;

cout>>s;

}

16. List the three numeric data

types in C++ with an example for

each.

(3)

(3)

(3)

(3)(3)

(3)
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17. Errors may occur in two stages

of programming.

a) Name these two stages.

Explain the nature of errors

in these stages.

b) The process of correcting

these errors is known as .......

18. Communication media is

generally divided into two –

wired and wireless media.

a) Give an example for wireless

medium.

b) Compare the characteristics

of three types of wired

media.

19. Internet offers a variety of

services and they are used

widely around the world.

a) One of these services

requires an address like

journey23@gmail.com. Name

this service and write the

reasons for the wide use of

this service.

b) Name the service which

provides a list of websites

containing information about

a word or a phrase.

17. SNkLNYLo]UY]R£ qºV ZŸ°t]¤

RfãOW¥ yUnv]¨LU.

a) CT ZŸ°tORa SkRquOf]

RfãOWtORa y~nLvU

v]wh}Wq]¨OW.

b) CT RfãOW¥ wq]pL¨OÐ

NkNW]p .............. IÐr]pRÕaOÐO.

18. WÚ|Pe]S¨x¢ o}c]pRp

RkLfORv vSp¡cV (wired) IÐOU

vp¡RsyV IÐOU qºLp]

f]q]¨OÐO.

a) vp¡RsyV o}c]p¾]jV KqO

DhLzqeU IuOfOW.

b) oPÐV fqU vSp¡cV o}c]pWtORa

yv]SwxfW¥ fLqfo|U

R\áOW.

19. C£¡RjãV j¤WOÐ Syvj°¥

SsLW v|LkWoLp] DkSpLY]\ÿO

vqOÐO.

a) C v p ] R s L R q ¹ ¾ ] j V

journey23@gmail.com. SkLRs

pOtt ANcyOW¥ Bvw|oLeV.

CT Syvj¾]R£ SkRquOf]

Af]R£ v|LkWoLp

DkSpLY¾]R£ WLqeRouOfOW.

b) KqO vLS¨L vLW|wWsS¾SpL

yUmjVi]¨OÐ v]vq°t

a°OÐ RvmVRRyãOWtORa s]ðV

sn|oL¨OÐ Syvj¾]R£

SkRqÍV?

(3)

(3)

(3)

(1)

(1)

(1) (1)

(3)

(3)

(1)

(1)

(3)
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20. Almost all services and business

are available online now.

a) Name the system that

facilitates money transaction

between buyers and sellers

in such cases.

b) Explain the infrastructure of

e-Governance.

21. Briefly describe the different

types of memories used in

computers.

22. Write a C++ program to input

the amount of sales and calculate

the discount amount based on

the criteria given in the table.

Amount of sale Discount rate

25,000 and above 10%

10,000 and above, 7%

but below 25,000

Below 10,000 No discount

OR

20. o]¨vLrOU IsæL Syvj°tOU

m]y]jyOU KL¦RRsj]¤ sn|oLeV.

a) CT yLz\q|¾]¤

vL°OÐpLtOU v]¤¨OÐpLtOU

fÚ]sOtt keo]akLa]jV

yTWq|RoLqO¨OÐ y]ð¾]R£

SkRqÍV?

b) C&YSve¢y]R£ Aa]òLj

yTWq|°¥ v]wh}Wq]¨OW.

21. W Ò | P Ÿ r O W t ] s O k S p L Y ] ¨ O Ð

v]v]i fqU RoÚr]WRt¨Or]\ÿ V

yUƒ]kVfoLp] v]vq]¨OW.

22. v]ãv]s C¢kOŸV R\pVfV Sam]t]¤

j¤W]p]q]¨OÐ j]mjVijW¥¨

jOyq]\ÿ V  c]yVWTºV fOW

We¨L¨OÐf]jOtt KqO C++

SNkLNYLRouOfOW.

v]ãv]s c]yVWTºV wfoLjU

25,000 DU Af]jO 10%

oOWt]sOU

10,000 oOf¤ 25,000 7%

vRq

10,000¤ fLRu No discount

ARsæË]¤

(3)

(3)

(5) (5)

(1)

(1)

(5)

(5)
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ARsæË]¤

\OvRa RWLaO¾]q]¨OÐ switch

SðãVRo£]Rj if  – else if

DkSpLY]\ÿV IuOfOW.(5)
(5)

OR

Rewrite the following switch

statement using if – else if

statement :

switch (n)

{

case 5 : cout<<"Excellent"; break;

case 4 :

case 3 : cout<<"Good"; break;

case 2 : cout<<"Average"; break:

case 1 : cout<<"Poor"; break;

default : cout<<"Invalid";

}








